
SAP ABAP table WBGTVB {Posting Structure}

WBGTVB

MANDT [CLNT (3)]

TKONN [CHAR (10)]

TPOSN [NUMC (6)]

TPOSN_SUB [NUMC (6)]

TEW_TYPE [CHAR (4)]

SCENARIO [CHAR (2)]

BUSINESS_STEP [CHAR (4)]

POD_UOM [UNIT (3)]

PUR_UOM [UNIT (3)]

MATNR [CHAR (18)]

MATKL [CHAR (9)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

CHARG [CHAR (10)]

UNIT_DOC [UNIT (3)]

CURR_VAL [CUKY (5)]

CURR_EXP [CUKY (5)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 WBGTVB-MATNR = MARA-MATNR 

0..N

1

MCH1

MANDT [CLNT (3)]

MATNR [CHAR (18)]

CHARG [CHAR (10)]

 WBGTVB-CHARG = MCH1-CHARG 

0..N

1

T000

MANDT [CLNT (3)]

 WBGTVB-MANDT = T000-MANDT 
0..N

0..N

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 WBGTVB-LGORT = T001L-LGORT 
0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 WBGTVB-WERKS = T001W-WERKS 
0..N

1
T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 WBGTVB-POD_UOM = T006-MSEHI 

0..N1  WBGTVB-PUR_UOM = T006-MSEHI 
0..N

1  WBGTVB-UNIT_DOC = T006-MSEHI 0..N

1 T023

MANDT [CLNT (3)]

MATKL [CHAR (9)]

 WBGTVB-MATKL = T023-MATKL 
0..N1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 WBGTVB-CURR_EXP = TCURC-WAERS 

0..N

1

 WBGTVB-CURR_VAL = TCURC-WAERS 

0..N

1

TEWSCENARIO

MANDT [CLNT (3)]

TEW_TYPE [CHAR (4)]

SCENARIO [CHAR (2)]

 WBGTVB-SCENARIO = TEWSCENARIO-SCENARIO 

0..N

1

TEWSTEP

MANDT [CLNT (3)]

TEW_TYPE [CHAR (4)]

STEP [CHAR (4)]

 WBGTVB-BUSINESS_STEP = TEWSTEP-STEP 

0..N

1

TEWTYPE

MANDT [CLNT (3)]

TEW_TYPE [CHAR (4)]

 WBGTVB-TEW_TYPE = TEWTYPE-TEW_TYPE 

0..N

1

WBHI

MANDT [CLNT (3)]

TKONN [CHAR (10)]

TPOSN [NUMC (6)]

TPOSN_SUB [NUMC (6)]

 WBGTVB-TPOSN = WBHI-TPOSN 

0..N

0..N

 WBGTVB-TPOSN_SUB = WBHI-TPOSN_SUB 

0..N

0..N

WBHK

MANDT [CLNT (3)]

TKONN [CHAR (10)]

 WBGTVB-TKONN = WBHK-TKONN 

0..N

0..N


